R5.7.1 Bl SramEEAnR S sl R

JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET| I EsA ERsH &EH (H) | (&)
X 48,849 109, 525] 53,229] 56,296 -19] 56 34 58 92 22  414] 436 0 100 100
HI—TH 698| 1,480 721 759 2 1 -2 0 2 4 7 3 -1 0 1
FLl T H 5591 1,291 640 651 0 3 0 1 1 0 1 1 3 3 0
LI =TH 463 1,038 500 538 1 —4 -2 0 2 -3 3 6 1 1 0
SLlAEH 1, 7200 3,809| 1,861 1,948 3 0 —4 1 5 1 11 10 3 4 1
Sk —TH 474 931 435 496 -1 -1 1 1 0 -6 6 12 4 4 0
. = 718 1,686 811 875 -1 —4 -1 0 1 —4 4 8 1 2 1
SR —TH 5551 1,288 617 671 1 2 0 1 1 1 3 2 1 1 0
S AT H 396 878 434 444 —4 -3 -1 1 2 -2 0 2 0 0 0
o h ] B 617| 1,325 637 688 -1 —4 -1 0 1 -1 1 2 -2 0 2
BN T B 239 504 251 253 -1 0 1 1 0 -1 0 1 0 0 0
ARt TH 647 1,646 802 844 2| -11 -3 0 3| -10 4 14 2 3 1
oA\ T H 385 839 387 452 0 0 0 1 1 0 4 4 0 0 0
IV B 620[ 1,470 722 748 2 0 0 2 2 5 6 1 -5 0 5
B naatl 4,651 10,567] 5,096 5,471 -71  -21 —4 7 1 -18 28 46 1 10 9
e n—1H 363 814 402 412 1 1 -2 0 2 3 3 0 0 0 0
sk T HL 1,013 2,091 1,051 1,040 —4 -1 -1 1 2 4 12 8 —4 0 4
HHk o —TH 676| 1,384 683 701 0 4 0 0 0 5 5 0 -1 0 1
W A AErl 2,0520 4,289 2,136] 2,153 -3 4 -3 1 4 12 20 8 -5 0 5
Mt A — T H 5511 1,235 602 633 -2 -2 0 0 0 1 3 2 -3 0 3
ek R _TH 359 918 465 453 0 1 0 0 0 -2 0 2 3 3 0
Mk R =TH 250 543 282 261 -6 -9 -3 0 3 -5 0 5 -1 0 1
ik L G| 565| 1,306 667 639 -1 1 0 1 1 1 3 2 0 0 0
msEr aaEtl 1,725 4,002] 2,016 1,986 -9 -9 -3 1 4 -5 6 11 -1 3 4
JCE g 375 849 406 443 5 2 0 0 0 1 4 3 1 1 0
HOEEN— T H 213 434 219 215 5 5 -1 0 1 4 4 0 2 2 0
HOEE T H 423 933 459 474 1 -2 -1 1 2 0 3 3 -1 1 2
HoEEI =T H 691 1,682 825 857 1 2 0 0 0 2 7 5 0 0 0
HOEEAN T H 804/ 2,026] 1,004 1,022 0 0 1 1 0 2 4 2 -3 2 5
HEROH T H 4420 1,032 522 510 -1 1 0 0 0 2 3 1 -1 0 1
HOEEIS T H 390 868 420 448 -3 —4 0 0 0 -4 0 4 0 0 0
HoEEOETH 678 1,452 710 742 0 0 -1 1 2 1 5 4 0 0 0
HOEEHOSE 3,641 8,427 4,159| 4,268 3 2 -2 3 5 7 26 19 -3 5 8
paEEe | 1,521 2,778 1,328 1,450 1 5 -3 0 3 7 14 7 1 2 1
FHIAR 301 632 326 306 0 -3 1 1 0 —4 3 7 0 0 0
EE g —T 546 1,113 514 599 —4 -5 2 3 1 -3 0 3 —4 0 4
EE g — T 260 522 261 261 2 8 0 0 0 4 4 0 4 4 0
R =T H 5271 1,164 579 585 0 1 1 1 0 0 1 1 0 2 2
EESN R T H 654/ 1,303 618 685 7 8 0 1 1 4 11 7 4 4 0
EEP g R T H 238 539 269 270 0 0 0 1 1 0 0 0 0 0 0
EER A2 2 2251 4,641 2,241 2,400 5 12 3 6 3 5 16 11 4 10 6
EEIARRT— T H 738l 1,428 673 755 49 49 1 1 0 50 55 5 -2 1 3
EEIARRT T H 669 1,283 592 691 3 5 0 0 0 -2 4 6 7 7 0
EEOARRTAE 1,407 2,711 1,265 1,446 52 54 1 1 0 48 59 11 5 8 3
RPN 272 772 421 351 -2 1 0 1 1 1 3 2 0 0 0
WHR—TH 7231 1,640 807 833 3 1 0 0 0 0 5 1 1 0
R T H| L738 3,942] 1,901 2,041 -5 -19 4 6 ol -15 17 32 -8 1 9
WHR=TH 873l 2,210] 1,077| 1,133 -1 -1 0 1 1 -3 4 7 2 2 0
HHRIT H 499 1,202 568 634 -1 4 2 2 0 2 6 4 0 0 0
HPREEE 3,833 8,994| 4,353 4,641 -4 -15 6 9 3l -16 32 48 -5 4 9
HiR—TH 722 1,586 772 814 2 4 0 0 0 3 2 1 2 1
IHR_"TH 938 2,221| 1,111] 1,110 3 1 0 0 0 -1 7 2 2 0
PR =TH 509 1,069 540 529  -19] =20 -1 0 1l -18 27 -1 1 2
JbdREE 2,169  4,876| 2,423] 2,453  -14] 15 -1 0 i -16 20 36 2 5 3
T IROBTHT 330 814 391 423 1 -2 -1 0 1 -1 2 0 0 0
el 1,603 5,069 2,255 2,814 0 -6 -6 1 7 -2 9 2 2 0
M E T H 744| 1,704 816 888 1 -3 0 2 2 -1 8 -2 0 2




R5.7.1 Bl SramEEAnR S sl R
JNE] Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i s A AR AR SET) ] A EREH &EH (H) | (&)

FYlE 1T H 763l 1,810 904 906 -1 -3 -3 0 3 1 7 6 -1 0 1
MoE =1 H 646 1,503 745 758 0 -1 0 0 0 -1 2 3 0 1 1
A EN T H 934/ 2,194| 1,032] 1,162 —4 -9 —4 1 5 —4 1 5 -1 0 1
RCENNE 658 1,486 732 754 0 -1 -1 0 1 1 4 3 -1 2 3
MAEST H 417 971 451 520 -3 -8 -1 0 1 -6 0 6 -1 0 1
Ml EaE 4,162[  9,668] 4,680| 4,988 -7 25 -9 3 120 -10 21 31 -6 3 9
VEPIe S 570/l 1,139 556 583 0 -2 -1 1 2 -2 4 6 1 2 1
e —TH 317 685 326 359 -2 -3 0 0 0 -3 1 4 0 0 0
i — T H 601 1,323 628 695 4 0 -1 0 1 1 3 2 0 0 0
A gl 918 2,008 954| 1,054 2 -3 -1 0 1 -2 4 6 0 0 0
E— 1 H 311 687 351 336 59| 57 2 2 of -63 1 64 4 6 2
B — T H 659 1,386 652 734 5 5 0 0 0 4 4 0 1 1 0
=T H 412|l 1,072 532 540 0 4 0 0 0 -2 1 3 6 6 0
EAE| 1,382 3,145 1,535] 1,610 54  -48 2 2 of 61 6 67 11 13 2
e —TH 383 915 429 486 2 0 -2 0 2 0 3 3 2 2 0
WHE T H 4450 1,078 537 541 2 3 0 1 1 4 7 3 -1 0 1
HHE T H 830 2,034| 1,041 993 0 5 0 1 1 2 4 2 3 6 3
W& T B 447 1,021 495 526 -2 -5 -2 0 2 0 1 1 -3 0 3
B E ] H 830 1,800 386 914 0 -3 -2 2 4 0 6 6 -1 4 5
HHIENT H 245 510 257 253 2 3 1 1 0 1 1 0 1 1 0
HESEE 3,180 7,358| 3,645 3,713 4 3 -5 5 10 7 22 15 1 13 12
<HWE—TH 599 1,349 655 694 0 2 0 2 2 3 5 2 -1 0 1
<HEIL—TH 7100 1,477 718 759 1 4 0 0 0 2 6 4 2 2 0
SHBEIL=TH 513 1,127 552 575 -2|  -11 -2 0 2 -7 2 9 -2 0 2
<HEWLPTH 571 1,175 575 600 0 -1 0 0 0 -1 3 4 0 0 0
<O T H 279 619 335 284 -3 -9 0 0 0 -8 2 10 -1 0 1
<WEEEH 2,672 5,747 2,835 2,912 —4 -15 -2 2 4l -11 18 29 -2 2 4
WIE AR —TH 796 1,701 834 867 -1 2 0 2 2 2 12 10 0 0 0
WIEAR T H 481\ 1,137 583 554 1 1 1 1 0 1 3 2 -1 0 1
PIEAITSE 1,277 2,838] 1,417 1,421 0 1 3 2 15 12 -1 0 1
s 405 770 371 399 6 -1 0 1 13 6 -1 0 1
ek a—TH| 1,173 1,840 846 994 8 15 1 1 0 17 23 6 -3 2 5
e T H 469 776 381 395 -1 3 2 2 0 1 5 0 0 0
kR =T H 690/ 1,732 812 920 2 3 -2 0 2 4 1 1 1 0
sk BRI H 411 859 411 448 -3 -2 0 0 0 1 2 -3 0 3
ko aEtl 2,743 5,207 2,450 2,757 6 19 1 3 2 23 37 14 -5 3 8
FRIREET 21 53 28 25 1 1 0 0 0 1 1 0 0 0 0
B 747l 1,727 829 898 1 0 -2 1 3 -1 3 4 3 4 1
VEEE 324 730 334 396 3 0 -1 2 3 0 3 3 1 1 0
e — T H 450 1,107 550 557 -5 -3 -1 0 1 -6 0 6 4 4 0
e T H 410 923 452 471 1 4 1 2 1 3 4 1 0 0 0
oo B R 860l 2,030] 1,002| 1,028 —4 1 0 2 2 -3 4 7 4 4 0
P — T H 694f 1,420 708 712 -1 2 1 1 0 6 8 2 -5 1 6
P T H 542 1,288 605 683 -2 -2 0 0 0 -2 0 2 0 0 0
Ve A Er 1,236 2,708 1,313| 1,395 -3 0 1 1 0 4 8 4 -5 1 6
P e 319 685 348 337 -2 —4 0 1 1 2 2 0 -6 0 6
BEHIR 208 482 255 227 1 0 -1 0 1 1 3 2 0 0 0




